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made of some alloy instead of pure metal?
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Draw a diagram of the flow of energy in an ecosystem.
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Out of the two wires P and Q
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(a) Why platinum, gold and silver are used to make jewelcry ?
(b) Name the hardest natural substance
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Make the structure of the fbllbwing compounds:
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What will be happen if we kill all the organisms of a trophic level.
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How can you help in reducing the problem of waste disposal. Explain
any two methods.
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Why are the.traits acquired during the lifetime of an individual not
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Define Resitance of a conductor On what factor does the resistance
of wire depend?
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~ What is food web? Explain with an example.
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Give any three ways by which a non biodegradable substances would
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.~ What is fossil? What do they tell us about the process ol evolution?




X« G STl S T % S 39 90 6 S5 3 s
&, W PO NG 91 SN F A0 YD aArrewor F =79 s i g
37qEe T e 6 B I | 376 3791y g gedt 3 e 7 wrEet
I ST €1 Iel WSl & WY @ @ Sharey fey ¥

STETeHl & TEHAT ¥ S ey % wHIor faery ¥ e e
s QT & SR @ S e @ ude (gl SR % o
mﬁ%nwﬁi@ﬁm,_ﬁa@m@fﬁﬁﬁwmﬁw%ﬁg
aferl < T ST S () o) 3Hb 3reaE ¥ 39 o o gt Bl €

for Yo e was & foier e & qdsT § g2 B



lq.\e:ﬁizmﬁ:rramm%? vﬁmvﬁﬂwmaﬁ,% .
R su=ivr wgt fwar wmar @2 ,

What is thermite reaction? Explain with (,quau(m Where is it used?
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What are the different ways in which individuals with a Particyly,
~ trait may increase in a population.
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